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Sage N’ Scribe – structure purpose ‘Knowledge Building’
In pairs, Student A is the Sage; Student B is the Scribe.

The Sage gives the Scribe step-by-step instructions how to answer a question.

The Scribe records the Sage’s solution step-by-step in writing, coaching if necessary.

The Scribe praises the Sage.

Students switch roles for the next problem or task.

1. Louis Philippe’s regime was doomed from the start. Do you agree? Support your answer with reasons and/or examples

2. The fall of Louis Philippe was an avoidable accident. Do you agree? Support your answer with reasons and/or examples

3. Louis Philippe made crucial mistakes 1847-8 which sealed his fate. Do you agree? Support your answer with reasons and/or examples

4. Louis Philippe’s fall was due to an emerging class struggle between workers and owners. Do you agree? Support your answer with reasons and/or examples

5. Louis Philippe fell from power because of the power of socialist ideas. Do you agree? Support your answer with reasons and/or examples

6. Louis Philippe fell because of his ‘timid’ foreign policy. Do you agree? Support your answer with reasons and/or examples

7. Louis Philippe fell because he failed to give more people the vote. Do you agree? Support your answer with reasons and/or examples
